REAL LIFE VIDEO GAS LAWS!

Watch what happens to the volume (and or pressure) inside a soda can when the

temperature is INCREASED.
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the bell jar.
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Watch what happens to the temperature inside the tube when pressure is rapidly

INCREASED,
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15 A sample of a gas is contained in a closed gioj
evlinder. According to kinetic molecular theory,
what occurs when the gas inside the oylinder is

heated?
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molecules per unit time d}eﬂﬁ&es.
1(.- average velocity of the gas molecules

increases.
{(4) The volume of the gas decreases.
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44 Which graph represents the relationship between
pressure and volume for a sample of an ideal gas
at constant temperature?
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Which ten iperature change would cause a sample
of an ideal gas to double in volume while the
pressure is held constnt?
{1 from 400. K to 200. K
mm 200. K to 400. K
_Lrom 400.°C to 200.°C
L-from 200.°C to 400.°C
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Watch what happens to the volume of the balloon when we REDUCE the pressure inside

200 A sample of gas is held at constant pressure.
Increasing the kelvin temperature of this gas
sample causes the average kinetic encrgy of its
molecules to o

(1) degrdase and the volume of the gas sample
0 deczease

{2 Tease and the volnme of the gas sample
to increase
{3) increase and the volume of the gas sample to

cerease
4) ipcrease and the volume of the gas sample to

acrease
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Which mit is used to express the pressure of a

gas?
(3} kebvin
)uscal
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(1} mole
(2} joule
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Watch the SHORT video, then try =1
the questions & check the key. ;
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Base vour answers to questions 31 and 52 on the electron confisuration table shown below.

Elactron g00.g1/XrTwo
Element : :
Configuration
X 2882
Y 2-8-7-3
Z 2-8-8

31 What is the total number of valence electrons in an atom of electron confiouration X7 [1] 02
52 Which electron configuration represents the excited state of a calcium atom? 1] \r
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Base your answers to questions 63 and 64 on the diagram below, which shows bright-line spectra
of selected elements.

Bright-Line Spectra
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63 [dentify the two clements in the unknown spectrum.  [2] _,} + H e

64 Explain how a bright-line spectrum is pmdnad in terms of excited state, energy
transifions, and rmuuid state. [2] g e” abserks nvg and jimps up v a i'n ke n ry
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I As an electron in an atom moves from the ' ac ,\z n 3t
“"l‘i)llﬂd state to t]lt‘ (‘X(‘lt[’d state, the i.‘I(‘{'U'{lll 3i \'\'hgyh l‘l( wwtron (‘()}'li]*"'il!‘.ith')l] i‘?pl‘e‘&‘nts the ele -

trons in an atom of chlorine in an excited state®
(1} 2-7-7 5-7

{3} 2-
_-.-c. 1) 2.8

gains energy as it moves to a higher energy
level
gains energy as it moves to a lower energy level
loses energy as it moves to a higher eneroy
level
4 loses eneray as it moves to a lower energy level
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